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M.A. (Second Semester)
EXAMINATION, May - June, 2022

SOCIOLOGY
Paper Eighth

(Sociology of Development)

Time : Three Hours] [Maximum Marks:80

     

Note: Attempt all the sections as directed.



(Section - A)

 

(Objective/Multiple Choice Questions)

 (1 mark each)

  

Note : Attempt all the questions.

 

Choose the correct answer.

P.T.O.
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1.           
  

(A) 

(B)  

(C)  

(D)  

Economic growth is an indicator of the increase in per
capital income. Whose statement is this?

(A) Young Son

(B) Marthak Luwis

(C) William Son

(D) Gal Breath

2.  
  

(A) 

(B) 

(C) 

(D) 

Social development is the increase in the standard of
living of the people living in the society. Whose statement
is this?

(A) Kim

(B) Hobbhose

(C) Warner

(D) Moore
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3.   

(A) %

(B) %

(C) %

(D) %

What is the percentage of working population in India?

(A) 37%

(B) 30%

(C) 35%

(D) 32%

4.   

(A)  

(B)  

(C)  

(D) 

Who has written the famous Book Asian drama?

(A) Daniel Lerner

(B) Gunnar Myrdal

(C) Almond Powell

(D) Moore
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5.    

(A) 

(B) 

(C)  

(D)  

Which power control the market economy?

(A) Demand

(B) Supply

(C) Demand & Supply

(D) None of the above

6. 'Modernization of Indian tradition'

(A)  

(B)  

(C)   

(D)  

Who is the writer of 'Modernization of Indian tradition'.

(A) A. R. Desai

(B) Makim Meriyat

(C) D. P. Mukherji

(D) Yogendra Singh
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7.   

(A)   

(B) 1961

(C) 1956

(D)   

When did the first Five Year plan started?

(A) 1 April 1951

(B) 1 April 1961

(C) 1 April 1956

(D) 1 April 1964

8. 

(A)    

(B) 

(C)   

(D) 

Which Prime minister has announced the Pradhan Mantri
Jan Dhan Yojana?

(A) Rajiv Gandhi

(B) P. V. Narasimha Rao

(C) Atal Bihari Bajpei

(D) Narendra Modi

P.T.O.
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9.       

(A)   

(B)   

(C)   

(D) 

Community development plan is related to -

(A) Rural development

(B) Urban development

(C) Tribal development

(D) All or the above

10. 

(A) 

(B) 

(C) 

(D) 

What is the literacy rate in India as per 2011 census?

(A) 73.91

(B) 65.4

(C) 74.4

(D) 63.82
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11.    


(A) 

(B) 

(C) 

(D) 

When was National Rural employment programme
started?

(A) 1970

(B) 

(C) 1990

(D) 2020

12. 
   

(A) 

(B) 

(C) 

(D) 

How much wages are given to the villagers per day un-
der MAREGA (Employment Guarantee Scheme C.G.) in
the state of C.G.?

(A) 200

(B) 180

(C) 180

(D) 220

P.T.O.
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13.         
 

(A) 

(B) 

(C)  

(D) 

Under the direction of X the first Human Development
Index was prepared?

(A) Adler

(B) Freud

(C) Abraham Maslow

(D) Mahbub ul Haq

14.   

(A)   

(B) 1994

(C) 1996

(D)   

When was ‘Mahila Samridhi Yojana’ started?

(A) 2 October 1993

(B) 2 October 1994

(C) 2 October 1996

(D) 2 October 1997
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15.  

(A) 

(B) 

(C) 

(D) 

In which year the policy of globalization was adopted in
India?

(A) 1985

(B) 1987

(C) 1991

(D) 1993

16.         
    

(A)  

(B) 

(C) 

(D) 

"Migration is actually due to aspirational earnings rather
than realization of income". Whose statement is this?

(A) Arthur Lewis

(B) Findlay

(C) Renis

(D) Todaro

P.T.O.
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17. 

  

(A)  

(B)  

(C)  

(D)  

Newly Industrialising countries that have embarked on a
process of Industrialization and have experienced rapid
economic growth are known as:
(A) Developed Countries
(B) Developing Countries
(C) Second World
(D) None of these

18.           


(A) 

(B)    

(C)    

(D) 

Which one of these is not a factor contributing to increas-
ing globalization?
(A) The growth of international and regional forms of

government
(B) The spread of information technology
(C) Transaction corporations
(D) Communism



[11]

F - 397

19. 

(A)   

(B)   

(C)   

(D)   

Internet started in India -

(A) 15 August 1995

(B) 20 June 1975

(C) 8 May 1990

(D) 18 May 1988

20.        

(A) 

(B) 

(C) 

(D) 

When is the sustainable development goals agenda to
be completed?

(A) 2028

(B) 2032

(C) 2030

(D) 2034

P.T.O.
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 

Section - B

  

(Very Short Answer Type Questions)

(2 marks each)

  

Note : Attempt all questions.

1.    

What do you understand by social development?

2.    

What is capitalistic economy?

3.     

What is Human Development Index?

4.      

What are the goals of sustainable development?

5. 

What do you understand by economic growth?

6. 

What is displacement?
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7. 

What do you understand by Privatization?

8.  

What are Non Governmental Agencies?



Section - C

  

(Short Answer Type Questions)

(3 marks each)

   

Note: Attempt all questions.

1. 

What do you understand by Modernization?

2.       

Explain the paths of social development.

3. 
  

What is liberalization? What are the changes brought
about by liberalization, explain.

P.T.O.
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4. 


Explain that small and cottage Industries are important
means of economic development.

5. 

What do you understand by planning?

6.       

Write notes on info-tech and education.

7.  

What is the relationship between evolution and tradition?

8.   

What is Gender discrimination? Explain.



Section - D

  

(Long Answer Type Questions)

(4 marks each)

  

Note: Attempt all questions.

1.      
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Evaluate the development model of Gandhian Theory.

/OR

     

Describe the factors of Modernization.

2.       

Describe the environmental perspection of development.

/OR



Discuss the impact of economic development and man
power.

3.         

Evaluate the role of the state in economic development.

/OR

        

Discuss on the role of five year plans in India.

4.      

Write an essay on the influence of the west on Indian
society.

P.T.O.
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/OR

        

Mention the cause and effect of Rural Migration.

5. 

Explain the status and role of women in Independent
India.

/OR

        
 

Explain how social exclusion affects development.


